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6HJDOD� SXML� GDQ� V\XNXU� DWDV� NHKDGLUDW� $OODK� 6:7�� NDUHQD� DWDV� VHJDOD�

OLPSDKDQ�UDKPDW��KLGD\DK��NDUXQLD��VHUWD�SHWXQMXN�1\D��VD\D�GDSDW�PHQ\HOHVDLNDQ�

WXJDV�DNKLU�LQL��6D\D�MXJD�PHQJXFDSNDQ�WHULPD�NDVLK�XQWXN�VHPXD�SLKDN�\DQJ�WHODK�

PHPEDQWX�� PHQGXNXQJ� GDQ� PHQGRDNDQ� VD\D�� 6D\D� PHQJXFDSNDQ� WHULPD� NDVLK�

NHSDGD�

�� $OODK� 6:7� \DQJ� WHODK�PHOLPSDKNDQ� NDUXQLD�� UDKPDW�� GDQ� KLGD\DK�1\D��

6HEDLN�± EDLNQ\D�SHQRORQJ�GDQ�SHQGHQJDU�GRD�VD\D�NHWLND�PHQJKDGDSL�VXND�

GXND�GDODP�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL��$OKDPGXOLOODK�7XJDV�$NKLU�LQL�

WLGDN�DNDQ VHOHVDL�WDQSD�SHUWRORQJDQ�1\D�

�� $\DK� GDQ� LEX� VD\D� \DQJ� VHODOX� PHQGRDNDQ� VD\D� GLVHWLDS� GR¶D� PHUHND��

PHQ\HPDQJDWL�VD\D�GLVHWLDS�ZDNWX��GDQ�PHQJDMDUL�VD\D�WHQWDQJ�NHVDEDUDQ��

EHNHUMD� NHUDV�� VHUWD� EHUWDQJJXQJ� MDZDE�� VHPRJD� PHUHND� VHODOX� GDODP�

UDKPDW�GDQ�OLQGXQJDQ�$OODK�6:7�

�� .HOXDUJD� EHVDU� VD\D�� NDNDN�� DGLN�� NDNHN�� QHQHN�� SDNGH�� WDQWH�� ELEL�� RP��

VDXGDUD� VHSXSX�� VHPXD� \DQJ� WHODK� PHQGXNXQJ� VD\D� GDODP�PHQJHUMDNDQ�

7XJDV�$NKLU� LQL�� VHPRJD�PHUHND� VHODOX� GLEHULNDQ� UDKPDW� GDQ� OLQGXQJDQ�

$OODK�6:7�

�� ,EX�'HVUL�.ULVWLQD�6LODODKL�VHEDJDL�SHPELPELQJ�,�\DQJ� WHODK�PHOXDQJNDQ�

ZDNWXQ\D�XQWXN�PHPEHULNDQ�ELPELQJDQ��VDUDQ��GDQ�NULWLN�\DQJ�PHPEDQJXQ�

VHODPD�SHQJHUMDDQ�7XJDV�$NKLU�LQL��VHPRJD�,EX�GDQ�NHOXDUJD�VHODOX�GDODP�

UDKPDW�7XKDQ�<DQJ�0DKD�(VD�

�� %DSDN�)DLVDO�%XGLPDQ�VHEDJDL�SHELPELQJ�,,�\DQJ�WHODK�PHPEHULNDQ�NULWLN�

GDQ� VDUDQ� NHSDGD� VD\D� GDODP�NHVXOLWDQ� SHPEXDWDQ� EXNX�GDQ� MXUQDO� SDGD�

7XJDV�$NKLU� LQL�� VHPRJD� EDSDN GDQ� NHOXDUJD� VHODOX� GDODP� UDKPDW�$OODK�

6:7�

�� %DSDN� 6LJLW� <XZRQR� VHODNX� .DSURGL� 6�� 7HNQLN� (OHNWUR� \DQJ� WHODK�

PHPEDQWX� VD\D� GDODP� XUXVDQ� DNDGHPLN� VHODPD� PHQMDGL� PDKDVLVZD�

8QLYHUVLWDV�7HONRP�

�� %DSDN�5DPGDQ�1XJUDKD�VHODNX�GRVHQ�ZDOL�VD\D�\DQJ�WHODK�PHPEDQWX�VD\D�

GDODP� XUXVDQ� DNDGHPLN� VHODPD�PHQMDGL�PDKDVLVZD�8QLYHUVLWDV�7HONRP��

VHPRJD�EDSDN�GDQ�NHOXDUJD�VHODOX�GDODP�UDKPDW�$OODK�6:7�
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�� 7HPDQ�WHPDQ�HOHNWUR����� \DQJ�WHODK�EHNHUMD�VDPD�GDODP�PHPXODL�KDO�EDUX�

GLGDODP�KDO�DSD�SXQ VHODPD�SHUNXOLDKDQ�PDXSXQ�RUJDQLVDVL�

�� .HOXDUJD�6DVHGX�\DQJ�VHODOX�PHQHPDQL�SDGD�VDDW�SHQJHUMDDQ�WXJDV�DNKLU�

��� .HOXDUJD�%XUXK�6HQL�\DQJ�PHPEXDW�VD\D�EHUNHPEDQJ�VDPSDL VDDW�LQL�

��� 7HPDQ�WHPDQ�(/�������VHEXDK�NHOXDUJD�EDUX�\DQJ�WHUMDOLQ�VHPDVD�NXOLDK�

GL� 8QLYHUVLWDV� 7HONRP�� EDQ\DN� NHQDQJDQ� LQGDK� EHUVDPD� NDOLDQ�� VHPRJD�

$OODK�6:7�PHPEHULNDQ�UDKPDW�GDQ�SHWXQMXN�1\D�

��� 6HOXUXK� WHPDQ�WHPDQ� .HOXDUJD� 0DKDVLVZD� 7HNQLN� (OHNWUR� \DQJ� WHODK�

PHPEHULNDQ� EDQ\DN� SHQJDODPDQ� GDQ� VHODOX� EHUMXDQJ� EHUVDPD�VDPD� GL�

8QLYHUVLWDV�7HONRP��VHPRJD�SHUWHPDQDQ�LQL�PHQMDGL�SHUWHPDQDQ�\DQJ�WDN�

VXUXW�GLPDNDQ�ZDNWX�GDQ�\DQJ�GLULGKRL�ROHK�7XKDQ�<DQJ�0DKD�.XDVD�

��� 6HOXUXK�FLYLWDV�DNDGHPLND�8QLYHUVLWDV�7HONRP�DWDV�VHJDOD�EDQWXDQQ\D�GDQ�

SLKDN±SLKDN�ODLQ�\DQJ�WXUXW�WHUOLEDW�ODQJVXQJ�PDXSXQ�WLGDN�ODQJVXQJ�GDODP�

SHQ\HOHVDLDQ� 7XJDV� $NKLU� LQL�� VHPRJD� $OODK� PHPEDODV� NDOLDQ� VHPXD�

GHQJDQ�UDKPDW�GDQ�NDUXQLD�1\D�

6HPRJD�$OODK�6:7�PHPEDODV�EXGL�EDLN�VHPXD�SLKDN�\DQJ�WHODK�PHPEDQWX�

GDODP�SHQ\HOHVDLDQ�7XJDV�$NKLU�LQL��$DPLLQ�\D�5DEEDO�$ODPLQ�


